[ of associated (recoTosim) duplicate tracks vs pT_]

I N of associated (recoToSim) tracks vs pT I

N of reco track vs pT

cedf’

P,

2

radR

10

. Gedf’

2
p.

wadf

10

1

107

e’

P,

2

radf

10

1

‘10

t

;-

(cedf”

2
p.

wadR

10

1

10°
1

107

VA = T
(= B e e
N of reco track vs - - i~

track n

track n

track n

track n

[ of associated (recoTosim) duplicate tracks vs phi_|

[N of associated (recoTosim) tracks vs phi |

N of reco track vs phi

track @

track @

track @



	Contents
	Page 1


